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For each question, construct a normal digteibution curve and label the horlzontal axis, Theh answer each
question.

(l"ﬂ The mean life of a tire is 30,000 km, The standard deviation is 2000 km.
a) 68% of all tires wilkhave a life between km and ki,
b) 95% of all tires will have a life between K and K.
¢) What peccent of the tires will have o life that exceeds 34, 5o Km?
d) If a company purchased 5000 &res, how many tires would you expect to last more than 28 000 kmn?

[/(ﬂ The shelf life of a particular dairy product is normally distributed with a mean of 12 days ahd a standard
deviation of 3 days,
a) About what percent of the products last between G.and 15 days?
b) About what percent of the products lust between 3 and 15 days?
c) About what percent of the products last 3days or less?
d) About what percent of the products lost [Zor imore days?

[’L]’] A line up for tickets to a local concert had an average (mean) wditing time of 20 minutes with a standard
deviation of 4 minutes, ‘
a) What percentage of the people in line waited for more than 22minutes?
b) If %#000ticket buyers were in line, how many of them would expect to wait for less than 16 minutes?

27 The mean life of abattery is BO hours with a standard deviation of 6 hours. The manufacturer advertises
that they will replace all batteries that last less than 38 hours, I'f o 00 atteries were produced, how
many would they expect to replace?

' C)ﬂ Tnan Oreo factory, the mean mass of a cookie is given as 40 g. For quality control, the standard deviation
52 9. ‘
a) If 10,000 cookies were produced, how many cookies are within g of the mean?
b) Cookies are rejected if they weigh more than 44 g or less than 36 g, How many cookies would you
expect to be rejected ina sample of 20, sudeookies?

(?ﬂ"i‘he speeds of cars on the highway have a mean of 95 km/h with a standard deviation of § ki/h.
) What percaptage of cars averaged legs than 80 km/h?
) Tf a police gar stopped cars that were going more than 105 kin/h, how many cars would they stop if
there were 5000 cars on the highway? :

LZ:@ The Eloppy Sisgcgmpgny- makes 3.5 inch floppy disks for disk drives that are 3,7 inches wide. The size of
a menufactures disk is normally distributed with a standard deviation of 0.1 inches. The company
marufactires 1000. disks every houp,

a) What % of the disks would you expect to be greater than 3.5 inches?
b) Inone hour, how many disks would you expect to be between 3.4 inches and 3.7 inches?
¢) About how many disks will be unable to fit in the disk drive (3.7 inch won't fit)?



